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al=0 ; a2=—(1/2) ; an+2=an”2-an+l

f( =0

t(2)

1
2
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f(nh + 2) = f(n) -f(n + 1)

2 1
f(3) = f(1 + 2) = f(1) -f(2) = o.[_ ___] -0
2
2 1
f(4) = f(2 + 2) = f(2) -f(3) = [_ ___].0 =0
2
2
f(5) = f(3 + 2) = f(3) -f(4) = 0-0 = 0
f(n) =
ItTn=1
0
Itf n=2
-1/2
f(n = 2)*2.f(n - 1D
VECTOR([n, f(n)], n, 1, 10, 1)
1 0
1
2 -
2
3 0
4 0
5 0
6 0
7 0
8 0
9 0
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#16: Explizite Form:
1
#17: flLsg(n) = |- —|-x(1.9, n, 2.1)
2
#18: CHI-Funktion: CHI(1.9,x,2,1) wird am Schirm als x(1.9,x,2.1)

geschrieben.

#19: VECTOR([n, fLsg(n)], n, 1, 10, 1)

1 0

1

2 -

2
3 0
4 0
#20: 5 0
6 0
7 0
8 0
9 0
| 10 0
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